Dividing Money (H)

10.

Calculate each quotient.

7) £98.84 2. 8) £105.20 3. 4) £7.28
3) £13.62 5. 5) £48.00 6. 6) £74.82
7) £21.35 8. 1) £34.08 0. 6) £9.66

If 8 identical books cost £57.92, how much did each book cost?

Math-Drills.com




Dividing Money (H) Answers

10.

£14.12

7) £98.84
— £70.00
£28.84

— £28.00
£0.84
—£0.70
£0.14
—£0.14
£0.00

£4.54

3) £13.62
—£12.00
£1.62

— £1.50
£0.12
—£0.12
£0.00

£3.05

7) £21.35
—£21.00
£0.35
—£0.35
£0.00

Calculate each quotient.

£13.15

8) £105.20
—£80.00
£25.20
—£24.00
£1.20
—£0.80
£0.40
—£0.40
£0.00

£9.60

5) £48.00
— £45.00
£3.00
—£3.00

£0.00

£8.52

4) £34.08
— £32.00
£2.08
—£2.00
£0.08
—£0.08

£0.00

_£1.82
4) £7.28
—£4.00
£3.28
—£3.20

£0.08
—£0.08

£0.00

£12.47

6) £74.82
— £60.00
£14.82
—£12.00

£2.82
—£2.40

£0.42
—£0.42

£0.00

£1.61

6) £9.66
— £6.00
£3.66

— £3.60
£0.06
—£0.06

£0.00

If 8 identical books cost £57.92, how much did each book cost? £7.24
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